Sample Paper - 02
Summative Assessment-II
SUBJECT-English core
CLASS - XI

Time: 3 Hrs. M.M: 80
General Instructions:

i) This paper is divided into four sections: A, B, C, D. All sections are compulsory
ii) Strictly adhere to the word limit, while answering the questions.
iii) Complete any one section altogether before moving onto the next section.
iv) Read the instructions, given separately with each question or section, very carefully
SECTION-A
READING 20 MARKS
1. Read the passage carefully and answer the questions that follow: 12

(a) LAPROSCOPY, which was used to remove gall bladder, will be used in various kinds of

surgery for the advantages it has over the techniques such as small incision, reduced post
operative pain and short hospital stay. One of the major difficulties in laproscopic surgery
that the key hole surgery has been the stitching of tissues. So expensive mechanical devices
called staplers are used to overcome the difficulty. But the stitching, called suturing and
knotting, using laproscopy obviates the need for these tools and add considerably to the
kinds of surgeries which can be done laproscopically.

(b) The department of Surgery of the All India Institute of Medical Sciences has organised a two

(c)

day workshop on various advanced laproscopic techniques. The workshop is the largest of
its kind in the country giving hands on experience in a stimulated environment using 20
state of the art “endo trainer stations”, As many as 200 delegates, surgeons of many year’s
experience and faculty members of medical colleges from all over the country are attending
the workshop. In open surgery doctors are first taught to put stitches. In the laproscopic
surgery of gall bladder using a stapler to put the stitches is alright as there are few stitches
but in some cases, such as liver surgery, stapler can’t be used as it is feared that the stapler
might give way and the patient bleed to death. Hence “Suturing and knotting is the best”,
said Dr. Arvind Kumar, Associate Professor in the Department of Surgery.

“By doing away with the use of stapler the cost of the surgery can be brought down
considerably as the stapler as well as the staples are quite expensive”, said Dr. Arvind
Kumar. In laproscopy a tiny telescope is inserted through a small hole in the area being
operated upon. The doctor insert the instruments for operating through other small holes
and operates by looking at the image of the insides as projected on a screen from the
telescope that has been inserted. Suturing and knotting looking at a screen require a high
degree of precision and eye-hand co-ordination.



(d) A lot of training is needed to master this kind of suturing and knotting. “In Laproscopic
suturing and knotting, the doctor never comes into the contact with tissues. He has to do
using long instruments inserted into the body which have to be used like extensions of the
fingers. This is more demanding on the surgeons skills and they need workshops to learn
and not patients”, said Dr. Michael JMC Mahon of the Leeds Institute of Minimally invasive
Surgery one has to teach the participants in the workshop.

(e) The advantage of endotrainers in doctors can learn to stitch tissues in laproscopy without
using human as guinea pigs. The doctors train by stitching tissue simulators or animal
tissues. “A single workshop cannot teach them enough but one workshop is better than no
workshops. This workshop is to serve as a trendsetter for similar continuing education
programmes on laproscopic suturing and knotting all over the country”, said Dr. Kumar. The
technique is better adopted by younger surgeons as it is difficult for a surgeon used to
following the open surgery method to change and relearn new techniques, said Dr. M. C.
Mishra of the surgery department.

1.1 On the basis of your reading of the passage, answer the following questions. 10
(i) Mention two advantages of laproscopy.
(ii) What is used for stiching in laproscopy?
(iii) Why is laproscopic surgery expensive than open surgery?
(iv) What skills are required by a laproscopy surgeon?
(v) How is the laproscopy surgery performed?
1.2. Find meaning of the following words and phrases from the passage: 2
(a) expensive (para 1)
(b) way of doing something (para 2)
(c) careful about details (para 3)
(d) a person or thing used as a subject for experiment, (para 5)

2. Read the given passage and answer the questions that follow:

(a) Fashion is a force-a powerful force of constantly altering patterns of change and growth. Its
constant movement affects the fate of the designers and manufacturers, who distribute it
and of course, the lives of the consumers, who follow what it dictates. All of its facets taken
together add up to a multimillion dollar industry. Fashion today means mega bucks.

(b) Fashion is also a science. It involves known facts and basic principles, and its actions and
reaction can be predicted as these are based on those facts and principles. Fashion is one of
those distinct and unique trades that is highly dependent on the environment and the
changes that are continuously taking place in it.



(c) For one to make it to the top in the fashion business and stay there, one has to continue to
discover and innovate to fulfill the needs and wants of the customers. For this, most of the
top designers such as Yves Saint Laurant, Karl Lagerfeld, Claiborne, etc., all rely upon their
creativity backed by years of invaluable experience. In this line of work, instinct and
intuition, play a very major role.

(d) As the power of fashion to influence our lives grows, a number of misconceptions about it
continue to abound. The most common of these is that the designers and the retailers
dictate what the fashion will be, and force their fancies on the helpless consumers. In
reality it is the consumers themselves, who dictate what the fashions will be, by either
accepting or rejecting the styles and trends that are offered. They are truly, as one ‘fashion
guru’ once said, “Variety vultures.”

(e) The second misconception is that fashion acts as an influence on women only. Men today,
are as much influenced by and, responsive to fashion, as women. In point of fact, the male
fashion industry has been growing at a dizzying rate. Yes, there was a time when menswear
was not exactly worth talking about. It was staid and unimaginative. But that does not
mean that men did not dress-up according to the latest trends of the day.

(f) There were changes in Western dressing that followed the dictates of the designers and the
fashionable elite trends-setters. These gave the fashion world the drainpipes in the '60s,
the popular safaris in the '70s, the denims in the '80s and the ethnic wear that has caught
on these days.

(g) Fashion today is more lifestyle oriented and quite practical. The modern male and female
want to dress differently for office and leisure. Designers are becoming more daring, the
women as well as the men folk have a wide choice. There are different designs for every
moment of a busy social schedule-from work, lunch to afternoon tea, cocktails, dinner and
gala banquets.

(h) Lastly, fashion is the force that causes women to raise and lower their skirt length,
straighten or fizz their hair and change from sports wear to dressy clothes. Fashion is, also
that force that influences men to grow or shave off their moustaches and beards, choose
wide or narrow ties and lapels and change from casual jeans into three piece suits and
tuxedo. It is indeed this dynamic and varied force that adds spice and colour to our life.

2.1 On the basis of your reading of the passage make notes on it using recognisable

abbreviations wherever necessary. 5
2.2 Write a summary of the above passage in not more than 80 words. 3
SECTION B:
WRITING 20 MARKS

Draft an advertisement to be inserted in the classified column of the local daily for the
requirement of a land for purchase in an industrial area of Agra to set up a shoe factory. You are
Niket. Invent necessary details. 4

OR



You are Abhi the head boy of Sun International School, Bareilley. Put the notice for the school
notice board inviting the council members for the meeting with the Principal and Discipline
Committee of the school. Invent necessary details.

. Write a letter to the Principal of the school requesting him to start the evening games in school.
You are Rajat, the sports captain of St, Mark’s School, Gurgaon. 6

OR

You came across an advertisement for the post of a receptionist in P.S. Public School and you
have an experience and training for the same and find yourself suitable. As Akriti apply for the
same along with a complete resume.

. Tourism industry is the most flourishing industry today. Write an article on how and why to
promote it. 10

OR

Recently you happened to visit the glass factories of Firozabad and saw the miserable condition
of workers and specially children working there. As Chetan/Chetna, the reporter of ‘The
Tribune’ write a report on the same.
SECTION C
GRAMMAR 10 MARKS
. Fill in the blanks using suitable modals: 4
Student: Madam, may I come in?

Teacher: Where were you? You (a) be in the class at the right time.
Student: Sorry Madam, I (b) not get the straight bus.

Teacher: 0. K, but you (c) not repeat it in future.

Student: [ (d) not repeat so. Kindly, forgive me this time.

. The following passage has not been edited. There is an error in the use of verb in each of the
following lines. Find the error and write the correct word in your answer sheet. The first one

has been done as an example. 4
On 10 November, 1910 Tolstoy suddenly decides e.g. decides decided
to renounce his home. He is accompanied by (a __ .
his daughter and his doctor. He was leaving (b) - -
his house in the middle of the night. He had reached () - .
next day the monastery on Uptina

and spend the night there writing an article. a .

On 12th he reached the Convent where his sister, Marie had
been stayed as a nun. (e)



He told his sister that he will like to ()

live in the Convent if no pressure is used (g) - -
on him to enter the church. The visit cannot be kept a secret. (h)

. Look at the sentences given below in a disorderly form. Re-order (Rearrange) them to form
meaningful sentences: 4

(a) my winning a medaUl told him/until/about/not known/he had
(b) on my bicycle/to/go/1/used to/my school.

(c) boy/each/was punished/of the class/yesterday

(d) how/you had/at the interview/done/us/let/know.

SECTION D
LITERATURE 30 MARKS
. Read the extract given below and answer the questions by choosing the most appropriate
options: 3
And who art thou? said I to the soft-falling shower,
Which, strange to tell, gave me an answer.
and here translated
[ am the poem of the earth, said the voice of the rain.

(a) The two persons in conversations are
(i) Poem and poet
(ii) Poet and rain
(iii) Rain and poem
(iv) None of the above.

(b) What is ‘Strange to tell’?
(i) The answer given by rain
(ii) The rain giving an answer
(iii) The rain replying
(iv) Both (ii) & (iii)

(c) The word ‘IP refers to:

(i) Earth




(ii) Poet
(iii) Rain
(iv) Shower
OR
The cardboard shows me how it was

When the two girl cousins were paddling Each are holding one of my mothers hands, And she
the big girl some twelve years or so

(a) ‘The cardboard’ denotes a
(i) Boat
(ii) Photograph
(iii) Picture
(iv) None of the above
(b) What can be seen on the cardboard?
(i) Three girls
(ii) Two girls and their uncle
(iii) A big girl
(iv) Poet’s mother
(c) Who were the other two girls?
(i) Poet’s mother and her cousin
(ii) Betty and Dolly (the two cousins)
(iii) Betty and poet’s mother
(iv) Dolly and poet’s mother

10. Answer only three of the following questions: 9



11.

12.

13.

(i) Give the brief description of the narrator’s boat? How well had he equipped it?

(ii) Explain the statement, “King Tut is one of the first memories to be scanned in death as in life
(iii) Describe narrator’s first ride on the horse.

(iv) What plan did Albert Einstein make to avoid going to school?

Answer the following questions in about 150 words. 6

For the first time in human history, we see transcending Concern “The survival not of the
people but of the planet.” Elucidate.

OR

Draw a contrast of the life the narrator’s grandmother spent in the village with the kind of life
she led in the city.

Answer the following questions in about 150 words. 6
Who was Yuri? How did he help Albert in getting rid of the school?
OR

There lies a great difference between Text book medicine and the world of practicing physician.
Discuss in context to The Birth.’

Attempt either section A or B.
Answer the following questions in about 150 words. 6

(a) Why did Booker not make a favourable impression on the head teacher? To admit him in the
school she gave him an order. What was it? How did he implement it?

OR
Describe General Armstrong’s role in Booker’s life.
(b) Sketch the character of the twins.

OR

Why did Virginia agree to help the Canterville ghost despite risks to her life?



Sample Paper - 02
Summative Assessment-II
SUBJECT-English core

CLASS - XI
Answers
1.1
(i) Small incision and reduced post operative pain are two advantages of
laparoscopy.

(ii)Stiching of tissues is done by staplers in laproscopic surgery.
(iii)Laparoscopic surgery is expensive than open surgery because expensive mechanical devices
such as staplers are used.
(iv) For performing laparoscopy a surgeon needs a lot of training, eye-hand co-ordination anda
high degree of precision.
(v) In laparoscopy surgery, a tiny telescope is inserted through a small hole, then the doctor
inserts the instruments for operating through other small holes and operates by looking at the
image projected from the telescope.
1.2

(a) requiring a large expenditure, costly

(b) method Technique

(c) Perfection

(d) Guinea Pigs

2.1 (a) Notes
(i) Fashion - a force
(a) Constant altering patterns affect
(i) designers
(ii) manufacturers
(iii) lives of consumer
(b) fashion means multimillion dollar industry

(ii) Fashion - a sci.
(a) facts and basic principles
(b) action and reaction predicted
(c) dependent on envir

(iii) Fashion - dis. and innovate
(a) continue to fulfill needs and wants
(b) instinct and intuition play major role

(iv) Fashion - Misconception
(a) Designers and retailers dictate fashion



(b) but it is consumers who dictates
(c) influence not only on women but men also are equally influenced

(v) Fashion - Western dressing
(a) trend sellers in 60’s, 70’s and 80’s

(vi) Fashion - changes
(a) life - style oriented and practical
(b) every occa. Diff. dress
(c) adds spice and col. to our life

Abbreviations:
(a) sci - science
(b) envir - environment
(c) dis. - discover
(d) occa. - occasion
(e) col. - color
(f) dift. - different

2.2 Fashion is a force which keeps changing and affecting all those people who are related to it. It is
a science as it is based on facts and principles. To remain on top in fashion business, designers
have to continually innovate and discover to fulfill the needs of the people. Fashion world is not
dictated by designers and retailers but it is the consumers who rule this field. Fashion is not
meant only for women, men are also equally influenced by it. Western dressing gave drain pipes
in 60’s, 70’s and 80’s with ethnic wears. Fashion has become more practical as people have and
change dresses for every occassion. Fashion is that which adds spice, flavor and colour to our
life.

Title—Fashion: The Mission of Modernity

Section B
Writing
3.(a)

Land Required
Industrial required, approximately 5000 square yards in Shastripuram industrial area for setting
up a Shoe manufacturing unit. No legal disputes should be attached. Contant Niket Aggarwal at
09876543291

Or

Notice
Sun International School
Bareily
16th Sep. 20xx
The council members are invited for a meeting with the principal and discipline Committee




measures could be taken to control it. The meeting will be held at the Auditorium on 18th Sep 20xx
at9 am.

Abhi Singh

Head boy

4,

The Principal

St. Marks'’s School
Gurgaon

25th April 20xx

Sub: Evening Games in School
Respected Sir,

Through this letter of mine I, on behalf of the students of our school, request you to kindly start the
evening games in our school. We are aware that ‘All work and no play makes Jack a dull boy.’
Mental and physical activities both are important for the overall development of a student. As you
know the daily routine of our school does not give us ample time to practise our field of choice of
games. The school dress and school shoes curbs our movements to play freely in the field. Also our
sports instructor is not able to coach us freely due to time boundation of periods. There are many
students of our school who are interested in evening games.

It is our earnest request that you kindly give us the permission to play in the evening in school.

Thanking you
Yours faithfully
Rajat Arora
Sports Captain

Or

13 Defence Estate
Agra
8 March 20xx
The Principal
P.S. Public School
Agra
Subject: Application for the post of a Receptionist
Respected Sir,
With reference to your advertisement in the Hindustan, dated 7th March 20xx., inviting resume for
the post of a receptionist in your prestigious concern. [ wish to submit my Resume for your perusal
and kind consideration.




[ further add that I shall be able to join my duties at one month’s notice if appointed.

Thanking You
Yours Faithfully
Akriti Sharma
Resume
Name : Akriti Sharma
Father’s Name : Mr. Vijay Sharma
Address : 13, Defence Estate Agra
Date of Birth : 5.12.1986
Educational Qualification : First Class Commerce Graduate from Delhi

University securing 83% marks in aggregate.
- MBA from Sachdeva College
- M.S. Office and M.S. Access

Experience : Have been working in ].D. Public School from past
4 years as a receptionist
Reference : 1. Mr. Vinod Shah, Principal ].D. Public School

2. Mr. Vidya Singh, Ex-Vice Principal ].D. Public School

This resume is to the best of my knowledge
Your faithfully
Akrit Sharma

5.

Tourism has emerged as the world’s largest industry. Growing rapidly in the last two decades,
today it accounts for 6% of world output and employs some 100 million people around the globe. It
has developed immense revenue and development potential and stands today as a unique natural
renewable resource industry.

Tourism—the travel based recreation provides people with a change of visiting a place and abreak from the
monotony of daily life. It brings people of different nations together, allowing them to come into
close contact with each other’s customs and other aspects of life. The knowledge and experience
gained in the process can lead to greater understanding and tolerance and can even foster world
peace. A study conducted by the United Nations has shown that developing countries, in particular,
can reap handsome benefits out of tourism which greatly boosts national income.

Tourism generates employment and adds to the entrepreneurial wealth of a nation. To promote
safe tourism it is imperative to understand the factors that hempen the growth of tourism and
check them effectively. General instability of the nation, political disturbances, violence, terrorism
etc. effects the flow of tourists.

Whatever the problems, India must work hard to reap the benefits from this industry, as the
country has everything to attract visitors from far and near.

Or




20th Sep. 20xx, situated in close proximity, to Agra, Firozabad homes to more than 1000 glass
workshops, factories and industries employing more than four lakh labourers. Since decades, this
small scale industry has manufactured, supplied and exported everything and anything pertaining to glass.

The labourers work in miserable and unhygienic conditions. The pollution caused during
manufacturing of glass products causes chronic bronchities. The workers are exposed to immense
heat and sound for which they are not provided any protective eye gears which often results in
accidents.

A good number of employed labourers are women and children. Women work in worse conditions.
They are usually employed in factories to clear the molten glass that falls around the furnaces. The
wages paid are very low and no maternity leave is given to them. Children are employed in packing
and sorting work in factories. About 50,000 children below the age of 14 work in this industry. This
is one of the highest concentration of child labour in the world. If child labour is eliminated,
production in glass and bangle industry would go down by 25%. About 85% of the children are
employed in carrying molten glass on a seven-foot rod. They sit in front of furnaces where
temperature is about 700 degree centigrade. Continuous exposure to high temperature harms their
health permanently. Chidren are forced to forgo their education and assist their parents. Over 1
lakh out of 4 lakh workers work from home but then they do not get the benefits of welfare
schemes.

The pitiable state of the workers especially children working in glass factories in Firozabad should be

effectively worked out.

Chetan Lunia

Reporter

Section C
(Grammar)
6. (a) should

(b) could
(C) shall
(d) will
7.(a)is was
(b) was leaving  left

(c) had reached reached

(d) spend spent
(e) stayed staying
(f) will would

(g)is was




(h) can could
8. (a) He had not known about my winning a medal until I told him.
(b) I'used to go to my school on my bicycle.
(c) Each boy of the class was punished yesterday.
(d) Let us know how you had done at the interview.
Section D
(Literature)
9. (a) I return
(b) (iii) There is no communication between the two.
(c) (i) extravagant
Or

(a) (iii) sweet
(b) (iii) not born
(c) (ii) the momentary life

10. (i) The author and his grandmother shared a very healthy relationship. As the author’s Parents

had left for town, they were constantly together making them good friends. Their
relationship changed when they were called to live in the city. The author joined an English
school and the grandmother was left confined in the house. The author went to university
and then went abroad bringing about distance in their relationship. But then their feelings for each other
did not change though distances grew between them.

(ii) Archaeology has changed substantially in the modern times. The old technology has paved

the way for new ones. It now focusses less on treasures but more on other aspects of life and
the mysteries of death. Modern archaeologists have all the latest tools and equipments with
which they can carry on their work minutely and in detail, like scanning which has
overcome the use of x-ray. In CT scan, hundreds of X-ray are put together in cross section
like slices of bread tocreate a three dimensional virtual body. X-ray provides only a
dimensional image. Thus CT scanning gives minute details and gives information of various things in
depth which could otherwise not be seen with a naked eye.

(iii) “That’ refers to Mrs. Dorlin’s address : “Number 46 Marconi Street.” The Central theme

of the story revolves around this address. The address was important for the narrator in the
beginning as it held memories of her past. The house had all those things amongst which she
had grown up. She longed to see and touch her things. The old memories compelled her
to visit Mr. Dorling’s house. However at the end of the story she resolves to forget the



address as she wanted to break off from the past and move on with the present into the
future. So forgetting the address was the easiest thing to do for her to remain in peace.

(iv) The narrator went to the village astrologer and told him to keep everything ready to read
the stars. He tutored him in all that he wanted the astrologer to say when he would revisit
him with Ranga. According to the astrologer the cause of Ranga’s worry was a girl who had
the name of something found in the ocean. Pulling out all the names, at the end the
astrologer suggested the girl's name could be Ratna who was troubling and worrying Ranga.

11. Albert Einstein was a man of principles. He was studying in a school at Munich. The history
teacher, Mr. Braun wanted all his students to learn the facts by heart. But Einstein opposed the
teacher as he did not believe in learning facts. The teacher could do nothing but to
feel personally offended whenever Albert raised a question. They had a definite point of
conflict. Whenever the teacher raised a question, he would say that he had forgotten it as he
felt learning facts was completely useless.

Mr. Braun attributed Albert that he was disgrace as he did not believe in education. He asked
sarcastically what was meant by ‘Einstein theory of Education’ to which he replied that it
meant ideas. This infuriated the teacher and he punished Albert for it. Albert did not believe in
the prevailing system of education. To him learning facts was useless but to know the ideas
behind the facts was the real source of knowledge.

Or
‘Mother’s Day’
The title of the play ‘Mother’s Day’ is quite appropriate as the plot of the play revolves around a

mother who serves her family with full devotion and inspite of that she is never respected by
her husband nor by her grown-up children. The novel technique employed to tackle the spoilt
children and a grown up man who is amusing and thought provoking. A submissive mother
transforms herself into a bold and dominating mother and acts sternly towards her children
making them realize the need of proper attention and respecting their mother. They are made
to learn lessons in courtesy and polite behaviour not only towards their mother but also
towards the visiting neighbours. The mother certainly hasher day when the children
treat with her properly and when supper was prepared by the children, their stay at home and
the family game of rummy, was the rare gift that the mistress of the house received on
that important day.

12. The grandmother was used to the life of the village. She got up early in the morning, she woke
up her grandsonand got him ready for school. She was very much concerned about the
education of the narrator. She accompanied him to the school. She read scriptures while sitting
in the temple. She was friendly even to the street dogs and fed them regularly in the village.

The city life and its culture did not suit her. She was a religious lady and quite conservative in
her thinking. The English school, English language and Science were strange to her. She was
upset to know that they didn’t teach about God and scriptures at the school. She hated music
which was taught in city school’s as she felt music was not meant for entertainment.



13.

The bond of friendship between the author and his grandmother broke because of distance
between them and because of different thinking between them. The city life never suited
grandmother and she accepted her loneliness silently.

Or

The children faced the situation more bravely than their elders as they did not show any sign
of defeat in the face of disaster. The children did not discourage their parents. They kept their
spirits high by making lovely cards and not complaining of their pains and troubles. They
remained strong and composed. Suzanne had a bump on her forehead and her eyes became
narrow slits, yet she did not bother her daddy about her injuries as he was busy in more
important tasks. Jonathan said that they were not afraid to die if they could all be together. The adults
reacted with a fighting spirit. The ship was broken, but they continued their struggle to survive the
disaster. Their fighting spirit, will power and optimism saved them all.

(a) Throughout the book Booker lays stress on education as the only means to uplift his people
and enable them to led a meaningful life. For this he knew very well that it is possible only when
they (Students) will learn things practically. Booker wanted his students to be more hygenic
and smart and active in all way for that he emphasised on the practical knowledge more than
the bookish knowledge. He realized that mere freedom was not enough to end slavery. The
question was to change the mindset of the whites who considered them fit only for manual
work. He himself struggled for education as he was convinced that it was the only way to
improve the blacks and this could be only possible if the students would get practical
knowledge.

Booker believed that the magic wand that could bring the blacks at par with the whites was the
smooth amalgamation of traditional education and manual work and labour. His idea of
education coupled with academies. He quoted many examples to prove that more education
could not cope with the increasing demands of the educated people. He laid stress on a new
work ethic where Industrial labour was an integral part of learning.

Or
The trip to Europe was not only a time of rest for Booker, but it was also a learning experience.
He brought back many new ideas from the countries he visited. He discovered that the
philosophies he lived by as to the mixing of the races were already in place in Europe. This
made him believe that these was hope for the American Negro.
One of the greatest surprises of his life occured when one of the ladies at a public meeting in the
interest of Tuskegee told him that they had raised sufficient funds for him and his wife to travel
to Europe. The route was all mapped out and everything was already organized. Booker did not
know how to take vacation. However, his wife told him he needed rest and letters of
introduction had been sent to help him in the society of Europe. The trip was well planned and
at every stop on the way proper arrangements had been made to make Booker’s trip
memorable.



(b) The Ghost’'s efforts of frightening the Otis family had been thwarted by the twins
and Washington. He had been feeling very weak and excited for the last four weeks. He stayed
in his room for five days contemplating on his strategy of terrifying the bold family. He gave up
the idea of renewing the blood stains on the library floor. In his opinion the Otis family live don
a low plane of existense and did not understand the symbolic value of seasons phenomena but
he was much insulted by the twins and wanted to take revenge upon them. He therefore,
decided to appear before them in the guise of ‘Rekless Ropert’ or ‘Headless Earl.’

So he had not appeared in this guise for the last-seventy years. But whenever he assumed this
guise he got the desired result. He remembered how the frightened lady Barbaron Modishhad
led her to break away with Lord cantenille’s grand father on the ground that the Canterville
allowed the ghost to move freely in their house his other attempts to frightening the Otis family
also meet failure.
For example his way on the corridor was abstracted by the twins they laid a rope on his way.
The Ghost did not notice it, he struck against the rope and fell down.
There after the Ghost lost all hopes of frightening the Otis family. He was not noticed on any
nightly expedition.
So he decided finally, not to appear again to scare the Otis family.

Or
After four days, a furneral procession was carried out in which everyone including Otis family,
Duke of Cheshire, Lord Centerville, Mrs. Umney and many other, people with torches in their
hand followed the furneral procession. Virginia was quiet sad thinking of the Garden of Death
which she had visited with the ghost. After the funeral Mr. Otis goes to Lord Canterville saying
that they cannot keep the jewellery which the ghost had given to Virginias Mr. Simon was Lord
Canterville’ ancestor and so the jewels belonged to him. But Lord Canterville refused to take
them back and says it is a gift from their side to Virginia on her wedding. Few year later,
Virginia gets the jewellery box as her wedding gift. After her lovely honeymoon, the couple
visits Canterville chase and the ghost’s grave. Virginia showers red roses on his grave and
pray’s for him.
The precious jewels given to Virginia by the Canterville ghost belonged to Sir Simon who was an
ancestor of Lord Canterville. Since there was not any other heirto Sir Simon except lord
Canterville, he was the legal owner of the gems. So like a gentleman Mr. Otis wanted to give
them to the lord. On the other side the Lord said that he (Mr. Otis) bought the house along with
its ghost so he (Mr. Otis) should keep the jewels with him Besides, the ghost gave them to
Virginia who won for him a corner in the garden of death. So, Virginia is the rightful owner of
them and they should be given to her as a gift on the occasion of her marriage. It shows that
both Mr. Otis and the lord were very honest and gentle.
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